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PART A: Vocabulary

Direcﬁans: Choose the word or phrase (1), (2), (3), or (4) that best completes each |

sentence. Then mark your answer sheet.

1- Your new spokesperson is very -—--— and clearly comfortable speaking in front of
large audiences.
I) impatient 2) willtul 3) voluble 4) modish

2- That ring is made from an -——-—-- of minerals; if it were pure gold it would never hold
its shape.
1) uccuﬂrcnc& 2) elaboration 3) intervention 4) amalgam

3- Fortunately, the parliament --—--—--- the new law that would prohibit companies from
discriminating according to race in their hiring practices.
1) abridged 2) ratified 3) magnified 4) persuaded

4- The teacher did not appreciate the student's -——-—-— and gave him detention.
| ) sarcasm 2) advent 3) blunder 4) reverie

5- The police have not yvet been able to find the missing child; to all of the searchers, the
child's location is still a great -——--- -
1) fallacy 2) enigma 3) remorse 4) sympathy

6. 1 really feel sad to say that we are now witnessing environmental destruction on an
11 | A

1) implicit 2) inadvertent 3) articulated 4) unprecedented

7- Ted was severely -------—-- by his colleagues for his use of offensive language when
addressing the guests.
1) devimef 2) castigated 3) resigned 4) hardened

8- As shrinking military budgets add to economic woes, arms manufacturers are -------—
seeking to expand their markets.

1) nocturnally 2) equivocally 3) indecisively 4) aggressively
9- Much to my -—-—, | should confess that we don't have a good indication that women
are actually taking better care of themselves today.
1) indifference 2) verification 3) chagrin 4) jubilance
10- It is to be remembered that living in a -—--—-—-- country is no guarantee you will
necessarily live a long life.
|) prosperous 2) conceptual 3) conceivable 4) long-winded

PART B: Cloze Passage

Directions: Read the following passage and decide which cheice (1), (2), (3), or (4) best

Jfits each space. Then mark your answer sheet.

The human question is the big one. (I11) --=------ on humans are very thin. Most human
Pﬂpulatiﬁns that are forced to survive on low-calorie diets are also malnourished and are as
ikely (12) ----—--- from vitamin and mineral deficiencies. (13) --—----—-- is on the Japanese
island of Okinawa, Walford notes: “The Okinawans have about (14) -——--- the calorie intake
of the rest of Japan. They eat mainly fish and vegetables. They have as much as 40 times the
incidence of people (15) --------- 100. They have less diabetes. tumors and so forth than the rest
of Japan.”
11- 1) The data exist 2) The data whose existence

3) Existing data that are 4) The existing data
12- 1) not to die as prematurely 2) as not to die prematurely

3) so not to prematurely die 4) not to die prematurely as
13- 1) Only one exception to know 2) The only exception to know

3) The only known exception 4) One exception is only known
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14- 1) 70 percent of 2) a percentage of 70
3) 70 percent 4) 70 of the percentage
15-1)in 2) for 3) over 4) with

PART C: Reading Comprehension

Directions: Kead the following three passages and choose the best choice (1), (2), (3) or (4).

Then mark it on your answer sheet.

PASSAGE 1

Afforestation is the establishment of a forest or stand of trees in an area where there was no
forest. Reforestation is the reestablishment of forest cover. either naturally (by natural seeding,
coppice. or root suckers) or artificially (by direct seeding or planting). Many governments and
non-governmental organizations directly engage in programs of afforestation to create forests,
increase carbon capture and sequestration, and help to anthropogenically improve biodiversity.
Special tools. e.g. tree planting bar. are used to make planting of trees easier and faster. In
some places. forests need help to re-establish themselves because of environmental factors. For
example. in arid zones. once forest cover is destroyed. the land may dry and become
inhospitable to new tree growth. Other factors include overgrazing by livestock. especially
animals such as goats. cows. and over-harvesting of forest resources. Together these may lead
to desertification and the loss of topsoil: without soil, forests cannot grow until the long
process of soil creation has been completed - if erosion allows this. In some tropical areas.
forest cover removal may result in a duricrust or duripan that effectively seal off the soil to
water penetration and root growth. In many areas, reforestation is impossible because people
are using the land. In other areas, mechanical breaking up ol duripans or duricrusts is
necessary. careful and continued watering may be essential. and special protection. such as
fencing, may be needed. In areas of extremely poor soil, the Groasis Waterboxx has been
effective in growing young trees. The Groasis Waterboxx was designed specifically to
establish trees in areas undergoing desertification. It collects dew and infrequent rain, and
slowly releases it to the plants roots. promoting deeper root growth.

16. We understand from the passage that...............
l. people use reforested land especially in the tropics
2. erosion often stands in the way of soil creation
3. it may take several decades to create a forest
4. tree planting bars are used mostly in dry areas

17. It can be stated, according to the passage, that............
1. deeper roots often promote faster plant growth
2. forests usually include a lot of large tree stands
3. Groasis Waterboxx is of no use in rainy areas
4. forest cover in arid zones is destroved quickly

18. The passage suggests that..............
1. there is lack of topsoil in desertification

. duripans do not form in arid areas

coppices consist of voung trees

sequestration reduces carbon capture

Al 10
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19. Itis stated in the passage that.............
|. overgrazing causes over-harvesting in a forest
2. reforestation 1s possible through direct seeding
3. continued watering can support effective fencing
4. special tools help improve forests anthropogenically
20. The word ‘inhospitable’ in the passage (underlined) is closest to that which does
DOL.sisissasunnes
1. *invite” 2. *destroy 3. “hurt’ 4. “grow’

PASSAGE 2

Growth rings, also referred to as tree rings or annual rings. can be seen in a horizontal cross
section cut through the trunk of atree. Growth rings are the result of new growth in
the vascular cambium. a layer of cells near the bark that is classified as a lateral meristem. This
growth in diameter is known as secondary growth. Visible rings result from the change in
growth speed through the seasons of the vear. thus one ring usually marks the passage of one
year in the life of the tree. The rings are more visible in temperate zones, where the seasons
differ more markedly, The inner portion of a growth ring 1s formed early in the growing
season, when growth is comparatively rapid (hence the wood is less dense) and is known as
"early wood" or "spring wood" or "late-spring wood". The outer portion is the "late wood" (and
has sometimes been termed "summer wood", often being produced in the summer, though
sometimes in the autumn) and is denser. "Early wood" is used in preference to "spring wood".
as the latter term may not correspond to that time of year in climates where early wood is
formed in the early summer (e.g. Canada) or in autumn, as in some Mediterranean species.
Many trees in temperate zones make one growth ring each year. with the newest adjacent to the
bark. For the entire period of a tree's life. a year-by-year record or ring pattern is formed that
reflects the climatic conditions in which the tree grew. Adequate moisture and a long growing
season result in a wide ring. Altemating poor and favourable conditions. such as mid-summer
droughts. can result in several rings forming in a given year.

21.  We understand from the passage that...............
I. in severe chimatic conditions ring patterns look darker than usual
2. growth rings do not necessarily correspond to a tree’s actual age
3. spring growth rings are dense due to the quality of “early wood’
4. Mediterranean species of trees grow very little wood in autumn
22. The passage points to the fact that................
1. late wood is not usually produced in the autumn
2. secondary growth occurs in a tree’s winter sleep
3. seasons do not differ much more in temperate zones
4. summer droughts can remove a ring formed earlier
23. Itis stated in the passage that..........ccceuu.
1. *spring wood" is formed after *early wood™ becomes quite solid
2. tree rings are narrower if the tree does not get enough moisture
3. trees in temperate zones make several growth rings each vear
4. annual tree rings do not always appear on the trunk of a tree
24. The passage suggests that...............
1. growth ring do not always form next to each other
2. vascular cambium includes two lateral meristems
3. trees grow less quickly later in the growth season
4. two rings at a time marks one year in a tree’s life
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25. The word *alternating’ in the passage (underlined) is best related to.............
l. “one another’ 2. ‘one other’ 3. "together’ 4. *every other’
PASSAGE 3

Close to nature forestryis a theory and practice that takes the forest as an ecosystem
and manages it as such. It intends to bridge the discrepancies, or even antagonisms between
the silvicultural and ecological visions on the single reality of forest. considering the forest as
an ecological system that produces wood. The sought after solution is not to segregate the
territory into areas devoted to either forestry or ecology. but to integrate all functions. The
management has to obtain healthy and stable forest systems that produce wood with a
minimum  human intervention. The products to obtain, other than wood, are
tauna habitats, biodiversity. recreational, aesthetics. and water management. The human action
has the object of accelerating natural processes, but not substitute them. The ProSilva model
recommends to use the uneven-aged lorest system, in which the ages, and consequently sizes,
of trees in a forest are different. It has the advantage to offer a stable structure regarding natural
disasters and plagues, and is very adequate for fauna habitat and biodiversity promotion. It
provides a better soil protection, since there i1s a permanent tree cover. Researchers consider
that in spite of being the most close to nature system. it is difficult to implement. and propose
to use the high regular forest model. in which all trees are of the same age/size. but recommend
using a regeneration system with a generous cover. to avoid soil erosion, and prevent excessive
light entrance, that would promote the growth of a potent understorey. Proposed thinning
frequency is about ten years, and intensity low, in order to limit the jngress of excessive light,
that could promote too much understory, or the growing of epicormic shoots.

26. The ProSilva model, according to the passage, iS........c.u00

l. hard to put into action 2. harmtul water resources
3. costly and complicated 4. commercially impractical
27. Itis stated in the passage that...............

1. low-intensity forest thinning is necessary every five years
2. the ecological model of forestry is not quite profitable

3. there 1s never lack of tree cover in the ProSilva model

4. excessive light stops the growth of epicormic shoots

28. The passage points to the fact that close to nature forestry provides better............
1. irrigation possibilities 2. chances for forest plants to grow
3. soil for future forest growth 4. living space forest animals
29. According to the passage, in close to nature forestry.....c..........
1. can speed up natural processes 2. no irrigation is required
3. more wood is produced per hectare 4. land is lett to develop its own resources

30. The word *ingress’ in the passage (underlined) is closest to......ccvviivnnn
1. “exit’ 2. ‘conversion’ 3, ‘reflection” 4, “entrance’
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